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Problem 1 (20 points) (10% each)
Evaluate the integrals.
(2)
3 42
./o V1 az.
(b)
/ 323 — 2z -2
oAz +1)
Problem 2 (20 points)(10% each)
Find the following limits if they exist.
() :
Hm (1 — cosz)7m=.
0t
(b)
__1_ _ 1
a1 Ng :c—l)' )
Problem 8 (15 points)(15%)
Let o
F(g) = / cos(t? -+ t)dt.
0
() (6%) Find F'(z).
(b). (9%) Find
)
z-0 g2
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Problem 4 (15 points)(5% each)

(a) Derive the MacLaurin series of
tan 'z
(b) Find the value of a € R such that the limit

. sin(az) — sinz — tan"'z
Km
z—0 z3

is finite.
{c) Evaluate the abeve limit:

Problem 5 (15points)(16%)

Find the maximum and the minimum of the function

f(mzy) = 33:2 - 2y2
on the curve
2z% — 2y + 97 = 1.
Problem 6 (15 points) (5% each)

Lei‘: B e

(2) Find the Taylor-series forf(z)at £ =0.
(b) Calculate : !
/ ie*di
0

and find"its"Taylor series'abo="0.
(c) Find the sum
= 1
Z ni(n+2)

n=0"
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